Calculus 1 Test 1 —- Fall 2012

NAME HEY STUDENT NUMBER,

SHOW ALL WORK!! Partial credit will only be given for answers which are partially correct!
Be clear and convince me that you understand what is going on. Use equal signs when things are
equal (and don’t use them when things are not equal). Be sure to include all necessary symbols
(such as limits). Your grade is based on the work you show and the arguments you make. If
applicable, put your answer in the box provided. Each numbered problem is worth 12 points. No
calculators.

: 1. Find the domain of F(z) = /5 + 10.
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3. Evaluate hm _.'1:_—31_’ if it exists.
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__ 4. State the precise (or formatl) definition of hm f(x) == L (the definition with the ¢ and § in it).
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5. Consider f(z) = v4—z? Evaluate QI,m% f(z), if it exists. Give a clear explanation of your
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6. Evaluate lim , if it exists.
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7. Consider f(z) = ¢ 1 fg =1 . Is f(z) continuous at z = 17 Explain.
f'f,iol 2z +4 ifze(1,2)
b | 0 ifze(23)
T £ . ’ /
et Fl1)=1 txdste)
(D) L Fra= £ [2x) < 2(1)=2 oo
> =L K2l
,Z--u ‘f{‘g) /é_ﬂ (‘"’ 2 % "fciﬁ/! = ”1{1} -("-f = 2.
%2 1 il 17
/ff.f“ /éfu.; 'Ff X ) = 2_ _,»f‘-’aj_pf,«a/fv ,V/
x-21
g

6) pur 1= FUn 4 Lo t)=2, e/

x21

Ve 2 Tt ‘; /‘:‘3/ "q/‘jr Cgf"\-jﬁ"-;vufi&ﬁ‘e,w o A z.




8. Consider f(z) = fz—tg Find the horizontal and vertical asymptotes of f and graph y = f(z)
in such a way as to reflect the asymptotes.
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M;]‘“:i" Bonus. (a) State the Sandwich Theorem. ‘
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